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fL(xy) =X +xy+4y>  fo(xy)=2x" +xy+2y*

fL(x,y) =X +4y*  f,(x,y) =2x* +2y?

f(x,y) = x> +xy+5y?

f(6y)=x2+5y%  f,(xy)=2x* +2xy +3y°

f(6y)=xX2+xy+6y>  f,(x,y)=2x*+xy+3y?
fa(X, y) = 2x2 — xy +3y?

f(6y)=x2+6y>  f,(x,y)=2x*+3y?

fL00y)=X2+xy+7y% (X y) =3x? +3xy + 3y?

fi(x,y)= x? +7y2 f,(x,y)= 2x% + 2xy+4y2

f(y)=2x"+xy+4y°  fo(xy) =2x% —xy+4y?
fa(x,y) =% +xy +8y°

fi(x,y)= x? +8y2 f,(xy)= 3x2 +2xy+3y2
fa(x,y) = 2x? +4y2

fL(xy) =X +xy+9y*  f,(x,y)=3x* +xy+3y°

o y)=x2+9y?  f(xy) =3x" +3y°
f5(X,y) = 2x% 4 2xy +5y?

f.(xy) =x2+xy+10y*  f,(x,y) = 2x* +xy +5y?
fa(x,y) =2x% —xy +5y%  f,(x,y) = 3x% +3xy + 4y?

fi(xy)=x°+10y*  f,(xy) =2x" +5y°

f(x,y) = x*+xy+11y°

f(6y)=x24+11y%  f,(x,y) = 2x* +2xy + 6y?

fa(x,y) =3x2 +2xy +4y*  f,(x,y) =3x% —2xy + 4y*

f(6y)=x2+xy+12y%  f,(x,y)=2x* +xy +6y?
fa(x,y) =2x% —xy+6y*  f,(x,y) =3x* +xy +4y>
fs (X, y) = 3x2 —xy +4y?
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h(D) h"(D)
h(D) | h*(D)

fFy)=x>—xy—y° ¢=1k e= i
f(x,y)=x*—2xy — y? £=1+2 ¢= [
fi(x,y)=2x* —2xy —y =18 &=
fo(x,y) = x* —2xy — 2y* & =113 & =[]
f(x,y)=x?—3xy - y? {= 28 ¢=f
f,(x,y) = x> —3xy — 2y? = q=[ay
fa(x y) = 2x* —xy - 2y? =10 &= i3
fa(x,y) = 2x* ~ 31y — y? &= &= 3
fi(x,y) =2x* — 2xy — 2y° §=2FE a= H
f(x ) =X —4xy —y? &=2+5 &=
fi(x,y) = x* —3xy —3y? = &=
fa(x ) =3x* —3xy —y? &= 22 &=
fy(x,y) = x* — 4xy — 2y* =246 a=1[+]
fa(x, ) =2x° —4xy — y? G=2L8 &= [24
a6, y) =x* — 4xy —3y* q=2+7 G = o]
fo(x,y) = 2x% — 2xy — 3y L=l &= [1ad
fa(x,y) = 3x* — 2xy — 2y* G=10 &= a1y
fa(x,y) =3x* —dxy — y? &= &= [11d
f(x,y) = x> —5xy — y? 5:# 5:[5]
fi(x,y) = x* —4xy —4y? G=2+22 a=14
fa(x,y) = 2x% —4xy — 2y & =142 &=l
fa(x,y) = 4x% — dxy — y? =1L &=[H
f,(x,y) = 2x? —3xy — 3y? b= @ &= [Tzl]
fo(x,y) =3x2 —3xy — 2y &= @ &H= [ﬁ}
fa(x,y) = X* —5xy — 2y == & = [5217
fa(x,y) = 2x* —5xy — y? =2 & = |12
fu(x ) =3¢* —xy - 3y? §=1F 4= sy
f,(X,y) = x? —5xy — 3y? G =2 & = [s1]
f3(x,y) = 3x* —5xy — y? G= = & = i
f,(x,y) = 3x% — 2xy — 3y? &= @ &= [171}
fo(%, y) = 2% — 4xy — 3y G =2 &H= [2_11]
fa(x, ) = 3x* —dxy - 2y* g= 20 &=[m2
fa(x,y) = x* —6xy — y? & =3+410 &=0
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